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Question |:- (6 points)

A particle moves along the x axis. Its x coordinate varies with time
according to the expression x= - 3t + 12t % where x is in meters and t is in
seconds

a- Determine the displacement of the particle in the time interval t= (0-2 s)

b- Find the velocity at any time

c- Find the average velocity in the time interval t= (0-2 s).

d- Find the instantaneous acceleration at any time

e- Find the average acceleration in the time interval t= (0-2 s).

f- Determine the acceleration at t = 2s.



Question 2 (6 points)

An airplane starts flying from rest the airport by departure speed 80 m/s, if
the minimum distance of flying is 3km calculate the acceleration of the

airplane to reach this speed and the time of flying?



Question 3 (8 points)

Two forces F, and F, are shown in Figure such that F; = 6i — 5 and
F, = —6i + 4 find:-
1- The resultant force F (2.5 point)

2- The magnitude of the force F, , F, and the force F (3 point)

3- The angle between F, and F, (2.5 point)



